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PROGEAM poprofile FBD
VAR
Init: BOOL;
UP: BOOL;
MC Power (O: MC Power:
MC PoaitionProfile 0:

HC
TP1: MC_TP_REF;// g

PositionProfile;
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TP1_ARR:ARRAY[1..100] OF SMC TP; //100 ',-"*S;‘-:C_TP,?_: etk ey i
END VAR
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EXECUTE
Init —EN ENO—
1 TP1_RRR[1].delta time: -
2 TPl _RBR[l].position:
3 TP1_RRR[Z].delta_time
1 TP1_RRR[Z].position:=2;
5 TP1_RRR[3].delta_time
£ TPl _RRR[3].position:
7 TP1_RRR[4].delta time: 5
8 TPl _RRR[4].position:=
5 TP1_RRR[5].delta_time
1§ TP1_RRR[S].position:=1;
11 TP1_RRR[d].delta time:
12 TP1_RRR[£].position:=0; -IUU o @\v
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Step3: L HWIMHLL
MC Power 0
MC Power
drive —Saxis Status ——
Init —{Enable bRegulatorRealState [~

TRUE —{bRegulatorOn
TRUE —bDriveStart

bDriveStartRealState —

Busy —
Error —
ErrorID
Step4: MC_PositionProfile TjagHRIH FH
MC PositionProfile 0
MC PositionProfile
drive S nxi= Done ——
TPl S TimePosition Busy [~
UF —Execute CommandAiborted —
10 —Array5ize Error —
Z —|PositionScale ErrorID
0 —0ffzet

Step5: {HIAHAT

EXECUTE
init —EN
IF MC_POWER_0.5tatus THEN
up :=true;
END IF
IF MC PositiconProfile O.Done THEH
T up:=FALSE: iR
END TF
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= - Trace
- drive.fActPosition
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